MAT 221
HW Assignment 4, Part B
Solutions

1. Discuss if the following argument is valid or invalid. 

“In order to graduate a student must satisfy a lab science requirement. John has not taken a lab science; consequently, John cannot have graduated.” For your convenience, here is a “cleaned up” version of this argument:

	If John (a student) graduates, then he has taken a lab science.


	John has not taken a lab science.

	Therefore, John has not graduated.


Legend: 
p: John (A student) graduates.

q: John has taken a lab science.

Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion: 
[image: image3.wmf]p

~

\


     Is the argument valid? (Answer and short explanation.)

Valid argument, since this is the Modus Tollens.

2. Discuss if the following argument is valid or invalid:

“Whenever I eat at Joe’s Diner, I get sick. I won’t eat at Joe’s Diner again. Then I won’t get 

sick again.” For your convenience, here is a “cleaned up” version of this argument:
	If I eat at Joe’s Diner, then I get sick.


	I do not eat at Joe’s Diner.

	Therefore, I will not get sick.


Legend: 

p: I eat at Joe’s Diner.

q: I get sick.
Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion: 
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     Is the argument valid? (Answer and short explanation.)

Invalid argument. It does not match one of the known valid argument forms. 

(The person might not eat at Joe’s Diner, but get sick from something else. 

This is referred to as a fallacy of denying the antecedent.)

3. Discuss if the following argument is valid or invalid. This is the given argument:

	You get soup or you get salad.



	You did not get soup.

	Therefore, you got salad.


Legend: 

p: You get soup.

q: You get salad.
Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion:
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     Is the argument valid? (Answer and short explanation.)

Valid argument. This is the Disjunctive Syllogism.

4. Discuss if the following argument is valid or invalid. 

“Some Delta Airlines employee benefits will be cut because Delta Airlines has declared bankruptcy and whenever an airline declares bankruptcy, employee’s fringe benefits are cut.”

For your convenience, here is a “cleaned up” version of this argument:
	If (an airline) Delta Airlines declares bankruptcy, then employee’s fringe benefits are cut.



	Delta Airlines has declared bankruptcy.

	Therefore, some Delta Airlines employee benefits (fringe benefits) are cut.


Legend: 

p: Delta Airlines declares bankruptcy.

q: Employee’s fringe benefits are cut.

Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion: 
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     Is the argument valid? (Answer and short explanation.)

Valid argument, since this is the Modus Ponens.

5. Discuss if the following argument is valid or invalid. 

“If the deceased died of a drug overdose, the medical examiner would have found drugs in the blood. The medical examiner finds drugs in the blood. Therefore the cause of death was a drug overdose.” For your convenience, here is a “cleaned up” version of this argument:
	If the cause of death was a drug overdose, then the medical examiner would have found drugs in the blood.


	The medical examiner found drugs in the blood.

	Therefore, the cause of death was a drug overdose.


Legend: 

p: The cause of death was a drug overdose.

q: The medical examiner found drugs in the blood
Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion: 
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     Is the argument valid? (Answer and short explanation.)

Invalid argument. This is not one of the known valid argument forms. 

(The medical examiner could find drugs in the blood, but the cause of death could be 

something different. This is referred to as a fallacy of affirming the consequent.)

6. Discuss if the following argument is valid or invalid. This is the given argument:

	Sue decided to exercise more or to eat less.


	Sue did not eat less.

	Therefore, Sue exercised more.


Legend: 



p:  Sue exercises more.



q:  Sue eats less. 
Argument in symbols: 

Premise 1: 
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Premise 2: 
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Conclusion:
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     Is the argument valid? (Answer and short explanation.)

Valid argument. This is the Disjunctive Syllogism.
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